Pre-calculus: Name Period
5.2 Homework

Prove that each of the following equations is an identity.
1. sinxcot X =cos x

2. 1-sec(—x)cos’ x =sin’ (—x)

cos xsin X +¢os’ X

3. - =cot X
sin X
sinX COSX
4, ——+—=1
CSCX SEecX

5. cscxsin® x—tan(—x)cos(—x)=2sin x

Date



6. (1+sin oc)2 +cos’a=2+2sina

1

7. (1+cota) —2cota =
(1+cota) cota (1-cosa)(1+cosa)

8. (1-sin” B)(1+sin §)=2cos f—cos* 8

9. tanXx+cotx=secxcscx

secx tanx
10. ——-———=cosXxcotx

tanx secx



CSCX

11. sec’x=——""——
csc X —sin X

sinx  cscx—1

12. — = >
sinx+1 cot® X

cscy+1 1+siny

13. = -
cscy—-1 1-siny




